Birds’ Eggs | TL

This scatter diagram shows the lengths and the widths of the eggs of some American birds.
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1. A biologist measured a sample of one hundred Mallard duck eggs and found they had an average
length of 57.8 millimeters and average width 41.6 millimeters.

Use a X to mark a point that représents this on the scatter diagram. /
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2. What does the graph show about the connection between the lengths of birds’ eggs and their ' 1
widths?
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3. Another sample of similar birds has eggs with a length of 35 millimeters on average.
If these birds follow the trend in the scatterplot, about what width would you expect these eggs to

be, on average? ‘/
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4. Describe the differences in shape of the two eggs C and D,
D wodd e \ohepr e & oy
oc\puY V2 v\ e tere, en t/\)OuKOJLb&Z
Ve ouve  Wid bk - e

5. Which of the eggs A, B, C, D, and E has the greatest ratio of length to width?
Explain how you decided.
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Birds’ Eggs | T2

This scatter diagram shows the lengths and the widths of the eggs of some American birds.
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1. A biologist measured a sample of one hundred Mallard duck eggs and found they had an average
length of 57.8 millimeters and average width 41.6 millimeters.

Use a X to mark a point that represents this on the scatter diagram. \// I
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2. What does the graph show about the connection between the lengths of birds’ eggs and their

widths?
Width | 4
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3. Another sample of similar birds has eggs with a length of 35 millimeters on average.
If these birds follow the trend in the scatterplot, about what width would you expect these eggs to

be, on average? ,
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4. Describe the differences in shape of the two eggs C and D.
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5. Which of the eggs A, B, C, D, and E has the greatest ratio of length to width?
Explain how you decided. /
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Birds’ Eggs I 3

This scatter diagram shows the lengths and the widths of the eggs of some American birds.
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1. A biologist measured a sample of one hundred Mallard duck eggs and found they had an average
length of 57.8 millimeters and average width 41.6 millimeters.

Use a X to mark a point that represents this on the scatter diagram. I
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2. What does the graph show about the connection between the lengths of birds’ eggs and their
widths?
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3. Another sample of similar birds has eggs with a length of 35 millimeters on average.
If these birds follow the trend in the scatterplot, about what width would you expect these eggs to
be, on average?

4. Describe the differences in shape of the two eggs C and D,
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5. Which of the eggs A, B, C, D, and E has the greatest ratio of length to width?
Explain how you dec1ded

M £45 = ‘fm —Mrr ﬂmﬂf»«LeH length t« W b l
Ywho F\(c/oﬁ\\”’\ <~ M&O\ 50l M the &UNn ) l\,\) |

Cond SM\LH'—QK "f\-e mui pnd Lerd &\ ‘\Le/ \AMNWLZ

e

A LS

D154 AV
LY s x5
D é(;(v‘w | Gy
o9 Se [ SY

Copyright @ 2011 by Mathematics Assessment -
Resource Service. All rights reserved. iO
1




Birds’ Eggs I 4

This scatter diagram shows the lengths and the widths of the eggs of some American birds.

Sizes of birds' eggs
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1. A biologist measured a sample of one hundred Mallard duck eggs and found they had an average
length of 57.8 millimeters and average width 41.6 millimeters.

Use a X to mark a point that represents this on the scatter diagram. O
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2. What does the graph show about the connection between the lengths of birds’ eggs and their

widths?
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3. Another sample of similar birds has eggs with a length of 35 millimeters on average.
If these birds follow the trend in the scatterplot, about what width would you expect these eggs to
be, on average? , 4 2.
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4. Describe the differences in shape of the two eggs C and D.
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5. Which of the eggs A, B, C, D, and E has the greatest ratio of length to width?
Explain how you decided. I
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Birds’ Eggs

This scatter diagram shows the lengths and the widths of the eggs of some American birds.

Sizes of birds' eggs
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1. A biologist measured a sample of one hundred Mallard duck eggs and found they had an average
length of 57.8 millimeters and average width 41.6 millimeters.

Use a X to mark a point that represents this on the scatter diagram.
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2. What does the graph show about the connection between the lengths of birds’ eggs and their TS

widths? T
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3. Another sample of similar birds has eggs with a length of 35 millimeters on average.
If these birds follow the trend in the scatterplot, about what width would you expect these eggs to
be, on average? ‘ /
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4. Describe the differences in shape of the tW;) eggs Ckand D.
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5. Which of the eggs A, B, C, D, and E has the greatest ratio of length to width?
Explain how you decided.
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